Al

Ol &F A

Al A

M SXE MY
B FoE =X 2A
elr AIRISXIAE 2435 XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 37,349,898 33,216,022 4,133,876
= 13,957,791
[ 946,382
Jl 2,193,073
Al 15,647,835
- 4,604,817
FHAANE =X 2435t 4,008,230 4,323,811 A255,581
Al 3,520,253
- 547,977
A2ISXAIE 2835t XI& 4,029,030 3,940,988 88,042
Al 3,485,853
- 543,177
AMNEIEX2 2EXE 3,594,573 3,594,573 0
Al 3,230,353
- 364,220
307 lztol & 3,594,573 3,594,573 0
Al 3,230,353
- 364,220
10 Al SXAIEEHE 22X 3,594,573 3,594,573 0
@)uiFal:] 3,289, 176,000& 3,289,176
Al 2,924,956
- 364,220
O=ArelE 7,400,000& 7,400
Al 7,400
OAIZelx=& 32,997,000 32,997
Al 32,997
O=2gH| 265,000,000 265,000
Al 265,000
A2l SR A X 235,700 180,500 55,200
Al 180,500
- 55,200
307 elztol & 235,700 180,500 55,200
Al 180,500
- 55,200
1 MISXAEEE 235,700 180,500 55,200
OMII=KISAH & KIS =2t At
88,000,000& 88,000
Al 88,000
OSASUOHUEXILY AtelSA2 227
8 =gl 80,000,000& 80,000
Al 80,000
OYPALOIIE L HASLEXH 228
24l 12,500,000 12,500
Al 12,500




2A:

E M

SINESES N}

FAAHE =X 2435t

o AMEISXIAE 2483 X (CH9: &S1)
SA - B S9I(B1) - KIRA - ol b e HlmS2
O(FOIZ00I A ZENEI=A 2 ADIE
ALIGINE 32t &4 55,200,000 55,200
AMal=X2 JIsE2 10,000 10,000
307 QI2Hol ™ 10,000 10,000
11 Al =SXAMEES 10,000 10,000
OGEASEA =X 2 SHEHLAIS
10,000,000& 10,000
ZCWAY XA 6,000 6,000 0
Al 3,000
- 3,000
307 212+01 A 6,000 6,000 0
Al 3,000
- 3,000
10 Al SXAEHE2ZHIEX 6,000 6,000 0
OJ=&cd3 XA 6,000,000& 6,000
Al 3,000
- 3,000
ZC0BIAIE XA 68,572 50,000 18,572
Al 48,000
- 20,572
307 2I2+01A 68,572 50,000 18,572
Al 48,000
- 20,572
10 Al SXAEHE2EHIEX 68,572 50,000 18,572
OFCE0r 29 X 68,572,000& 68,572
Al 48,000
- 20,572
AMal=X2 XE - & 2,650 2,840 A190
201 LEr2 | 2,650 2,840 A190
02 S=29| 2,650 2,840 A190
OXtS XA 30,000& 30
OXtsit B85 750,000& 750
OXtsxt 2R3
80,000 x2& 160
Oxtg |l 1,900,000 *90% 1,710
A= XAIE SALA "MIHEH| K& 50,000 48,420 1,580
301 LB F 50,000 48,420 1,580
14 JIEt2 A3 50,000 48,420 1,580
OAMZI=XAIE SAR H<LHAHI
50,000,000& 50,000
KNAAZ SHH2AM AIR= K& 61,535 58,655 2,880
Al 24,000
- 37,535




2A:

X XH -
o=

SINESES N}

FHS =X 24t

el AlSISXAIE 2435 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 61,535 58,655 2,880
Al 24,000
- 37,535
02 2IZHBYAIHE X 12,000 10,000 2,000
OXIAIZI SEEE AN st At
12,000,000 12,000
Al 6,000
- 6,000
03 M EHE2SHIEX 49,535 48,655 880
OXSA2 2EE M AHR= el2iH|
47,135,000 47,135
Al 18,000
- 29,135
OXISASIEZEOAM AFR= 29|
2,400,000 2,400
=0 X¥ 39,200 382,823 A343,623
Al 34,400
- 4,800
SO AR 2 4,800 4,800
201 el 4,800 4,800
01 At2telt] 4,800 4,800
ORHL) HAAYA JHHE Xeldl
800,000& 6 4,800
sZ&d A 34,400 0 34,400
Al 34,400
301 EtE NS 34,400 0 34,400
Al 34,400
02 ARI2HHSFS(HAAS, NLHE) 34,400 0 34,400
OsE&d XA 800,000 *43% 34,400
Al 34,400
MNasx=g sSAsd 2,391,406 2,203,428 187,978
= 1,018,300
[ 146,450
Al 371,386
- 865,270
Nas2 SX2dst 2,391,406 2,203,428 187,978
= 1,018,300
= 146,450
Al 371,386
- 855,270
NEAt 2 ZEAM 24 25,510 25,850 A340
201 fer= 3| 22,850 23,000 A180
01 At 2|l 13,850 14,000 A150




2A:

SINESES N}
Hu: HASZTO =SXEH
ol MASZ0l =X 245 (Shol: % 2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OXNSA 28 AXIEAIHAIZ AL L2t
1,500,000 *90% 1,350
OXGoHAHMY WS 1,500,000& 1,500
O0t2 A=A H=(NASSH 245k At
&) 11,000,000 11,000
03 A2 I 9,000 9,000 0
OAt2I=XI2 & JIg&At 1,000,000 1,000
O0=E=SXIet0re &AL 5,000,000& 5,000
OXNARI 2N dHe&dst s
3,000,000 3,000
203 SR =L 1,710 1,900 A0
03 A=A R FAIH| 1,710 1,900 A0
OXSAI2EHE AN Edst HRFA
1,900,000 *90% 1,710
301 LEN= 950 950
11 HAIMHIXIZ S 950 950
OXIS =Xl OlOICINSZ2AIE &HI24
950,000 950
AEIMHIA HAHAY 14,340 15,200 860
201 =3 14,340 15,200 A860
01 AFS2t2ltl 6,840 12,200 25,360
OgaMNY =& 2,850,000 *90% 2,565
OAtal=X2 42N 222 HME S
4,750,000 *90% 4,275
03 A2 I 7,500 3,000 4,500
O=kl=cl9Es 7,500,000 7,500
MAs SXAIE =& 7,560 7,980 AN420
203 BR8] 7,560 7,980 A420
03 AIF=AIH 2= 7,560 7,980 A0
OMaSIXAIHFA 3,600,000 *90% 3,240
OALHSUA=SAAIE A
3,600,000 *90% 3,240
OAlE, HHSEd A=A
1,200,000 *90% 1,080
ANSISRRE KA (HEAY) 441,593 441,593
301 2N = 441,593 441,593
10 AIRISRREBHS 441,593 441,593
odEsa=3 400,000,000& 400,000
O=U04tl 30,000,000& 30,000
OLl=H| 11,593,000 11,593
ARISA ARIS223 SAH| NI 63,504 63,756 252
301 LeEN= 63,504 63,756 2252
10 ARI=SRREELS 63,504 63,756 N2B2




2A:

e
M HASFO LEZ
Cel: MASF0 SXEdst (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O, = 42EZ AB=29d ZAL|
7,000 132 #2122 x 12 22,932
OAZISXIAIE AlRIS223 SAHI
7,000 x23E*212x 122 40,572
28=A 1,076,000 1,234,550 158,550
= 860,800
Al 107,600
- 107,600
301 EtE NS 1,076,000 1,234,550 158,550
= 860,800
Al 107,600
- 107,600
01 Al EE A S (2 DEXMA) 1,076,000 1,234,550 158,550
OUS=ERNXHALS 1,076,000,000& 1,076,000
= 860,800
Al 107,600
T 107,600
- Setatdl2el X3 15,000 15,000 0
[ 7,500
Al 3,750
T 3,750
201 er23| 10,500 10,500 0
= 5,250
Al 2,625
- 2,625
01 At2t2lt] 10,500 10,500 0
OAtell2tel 23| 10,500,000 10,500
s 5,250
Al 2,625
- 2,625
301 LELE NS 4,500 4,500 0
s 2,250
Al 1,125
- 1,125
01 Al EE A S(FRNEXM) 4,500 4,500 0
OAtdI2el XI&d| 4,500,000 4,500
[ 2,250
Al 1,125
- 1,125
SE At ZCIAHSRA) 2e 4,800 4,500 300
[ 2,160
Al 1,080
- 1,560




2A:

e
M HASFO LEZ
Belr NASFL SXE2dst EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 480 180 300
01 Ar2eltl 480 180 300
OX=CHal XAl 30,0002 3% 0
OO0k=2l XI&l 30,0002 3% 0
OXN=s=dl ¢ 100,000 *3H 300
202 04d| 4,320 4,320 0
s 2,160
Al 1,080
- 1,080
01 =LHO4 b 4,320 4,320 0
O=LHOHI 10,0002 +3E 122 * 12 4,320
= 2,160
Al 1,080
- 1,080
= XEE SEMHIA KR 108,540 108,540 0
s 75,978
Al 16,281
- 16,281
201 L2 | 75,978 75,978 0
s 53,184
Al 11,397
- 11,397
01 Ar22eltl 75,978 75,978 0
OO0t BHEXAMEIA 22|
75,978,000 75,978
= 53,184
Al 11,397
- 11,397
301 LPENSZ 32,562 32,562 0
s 22,74
Al 4,884
- 4,884
01 A B& X Z2(2REETHA) 32,562 32,562 0
OO0t BHEXMEIA X2
32,562,000 32,562
s 22,74
Al 4,884
- 4,884
ot EAH=X KA 7,760 7,340 420
201 L2 | 4,260 3,840 420
01 AtR2telt] 3,000 3,000 0
OMEZEII7 XIJAASE 29|
300,000 * 109+ 3,000




2A:

MM HASZTO 2XS
Cel: MASF0 SXEdst (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 1,260 840 420
OIPIRE SdA8F e 3| 28
all 30,000 »23! 128 720
OUEYSE JIBRE ADEE ABR
45,0003 * 128 540
301 22N 2,500 2,500
14 JIEt2 8= 2,500 2,500
OMZAEIIT TBAIY 801t X2
20,0002 10 %100t 2,000
OIS Sei2al7 "I I NS
OlHIE A 24 10,0002 x50 500
303 Zal= 1,000 1,000
01 2= 1,000 1,000
OR0BDt= EASXNAMHIA 28 S EItAl
& 1,000
B 400,000~ S 400
o 300,000 *1HS 300
- 3d 150,000 x2S 300
oY SE=Es ZdAMY 100,000 100,000 0
Al 50,000
- 50,000
201 2= 3,500 3,500 0
Al 1,750
- 1,750
01 At2t2lt] 2,000 2,000 0
OsaE SHES 222 HE S
2,000,000& 2,000
Al 1,000
- 1,000
02 S3=gHl 1,500 1,500 0
OR4E SBEE Hojotaze 2
1,500,000& 1,500
Al 750
- 750
301 LEtE NS 21,400 47,900 226,500
Al 10,700
- 10,700
02 A2 X LGS (FHAAHS, NLWE) 19,400 19,400 0
OSaE SHEE AMNTRMEIA
19,400,000 19,400
Al 9,700
- 9,700
14 JIEt2 = 2,000 8,500 26,500
ORME Sgs= S=HS|
2,000,000& 2,000




2A:

e
M HASFO LEZ
Cel: MASF0 SXEdst (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,000
T 1,000
307 elztol & 75,100 48,600 26,500
Al 37,550
- 37,550
1 AMISXAIEEXS 75,100 48,600 26,500
OR4HE SHSE DIBEs Al
75,100,000 75,100
Al 37,550
- 37,550
Satd 285X AEAY 38,175 63,625 N25,450
Al 38,175
301 Eet2 NS 38,175 63,625 N25,450
Al 38,175
02 ALRI2EH G (FHAAHS, NSWE) 38,175 63,625 N25,450
ORLHe 2GS X A3 A
38,175,000& 38,175
Al 38,175
Sy ZEE LAY 121,624 115,494 6,130
= 60,812
- 60,812
101 @124H| 121,624 114,394 7,230
[ 60,812
- 60,812
04 JIZtN2Z2 XS+ 121,624 114,3%4 7,230
O=sclsul =3¢ 2124| 121,624
- QI 2| 1,104,880 x0E « 11 109,384
s 54,692
T 54,692
ANHES JI2252
123,630 02+ 11 12,240
[ 6,120
- 6,120
A2 SEXATRS Al 300,000 0 300,000
= 150,000
Al 150,000
307 glztol & 300,000 0 300,000
= 150,000
Al 150,000
11 AMEISXAIEEE 300,000 0 300,000
OAtI2E SEXAFS At =&
300,000,000 300,000
= 150,000
Al 150,000




2A:

MM HASZTO 2XS
Cel: MASF0 SXEdst (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEYE 12 Ot 231E K& At 52,000 52,000
301 LEtE N = 52,000 52,000
02 ARSI 2EH 2GS (HAAHS, W) 52,000 52,000
Oosd4d 120t LI|E K&
13,0002 +82| * 101 & *50 Al TH 52,000
USAH MY & 2EMAH 2= 15,000 0 15,000
= 7,500
Al 4,500
- 3,000
201 eer23| 15,000 0 15,000
= 7,500
Al 4,500
T 3,000
01 At2teltl 15,000 0 15,000
OLSA Ole 22| Al
15,000,000 15,000
= 7,500
Al 4,500
T 3,000
sS= 28 A K& 1,266,166 972,046 294,120
Al 1,068,000
- 198, 166
= 2& M X 1,266,166 972,046 294,120
Al 1,068,000
- 198, 166
=tR3A & 22EHM N 109,050 130,000 220,950
201 er23| 1,050 0 1,050
01 At2tltl 1,050 0 1,050
Os==222 2 R 2 M
600,000 600
O==E22 2 U= 88
500,000 *90% 450
301 22N 2,000 24,000 A22,000
11 AALAEIXIES 2,000 2,000 0
OE2tHE2z A =2
2,000,000& 2,000
307 elztol & 106,000 106,000
02 2B YAIHE X 54,300 54,300
OMgr=Zolsl ArgHl X3 6,000,000& 6,000
OS+gRFSAal AIgHl N
3,250,000& 3,250
OdSTZIR=3 AHgHl X
7,800,000 7,800
O6.25&8 M7 SAs AtHl X
5,250,000& 5,250




SH: =NEMY
HY: 532 HE A A
&2l 5= B2 A XF (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&=3| AgHl X 2,000,000 2,000
OZgd AL ArgHl A&
5,250,000& 5,250
OFE=2Xt=l AMgHl X3
6,500,000 6,500
Od0l=2d3l Al XI& 6,500,000& 6,500
OLGMERE AtH| X2
5,250,000& 5,250
Od=Zd0IYele AIZHl N3
6,500,000& 6,500
03 M EHE2SHIEX 51,700 51,700 0
ONg=20ls 244l X 6,000,000& 6,000
OS+eR92Ns 29y UL
3,250,000 3,250
Od=zdiIgels =2dH N
6,500,000& 6,500
ON2RAR=E 29y XL
5,200,000& 5,200
Ob.25&8 N8 7SAs 24H X
5,250,000& 5,250
OZ&=3 2€4l A& 2,000,000 2,000
Oggd I3 24| X
5,250,000 5,250
OR3+=&ktzl 244l K&
6,500,000& 6,500
Oodol=dal =gl XN 6,500,000& 6,500
OLgNE=Re 234l A&
5,250,000& 5,250
A2 =52 Ag2e S 21,116
201 el 19,116
01 At2t2ltl 5,814
O=sz2 2HES 500, 0002 *90% 450
OSE5Z 2UFYIAAEY 8
110,000& * 12 1,320
OREs ST A2
150,000« 12& 1,800
ORS5|2 AUOIHBRIEY Fet44a
121,000& ~12& 1,452
OFESE Q4B(HE) HA BAL2R
132,000 6 792
02 S3=gHl 13,302
OE&32 MJIRs 700,000 * 122 8,400
OB &3 AUrME S|
50,0008 %12 50
ORE32 MIIOHEY +48
100,000& %12 100
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M =X

ZE: Olel Y ®IE 75
&2l OITHE! R JTHE! 15 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMHPE2X SEHBALY BEEHL)|
Stes 20,0003~ 122 240
302 OI=H o2 a= 2,000 2,000
02 2RI S ES243 2,000 2,000
ONHSHE S HEFZ=S 78
100,000 »20 I CH 2,000
OITHE! & MaH+S K& (KAl el +Z013) 50,000 20,000 30,000
Al 50,000
302 OI==H o2 &= 50,000 20,000 30,000
Al 50,000
02 2 S e S243 50,000 20,000 30,000
OOIE! S WHPE NS (2MAl WH7S
13) 50,000,000& 50,000
Al 50,000
CtE3t & JHEEXI2 7,883,128 5,593,562 2,289,566
= 1,677,232
s 750,000
Il 2,193,073
Al 2,903,329
- 369,494
sR2 =X 3,134,528 3,200,478 ANT4,950
= 227,700
Jl 1,862,936
Al 1,043,892
MASH(2RESAIE) 253,000 190,000 63,000
= 227,700
Al 25,300
307 el2to| & 253,000 190,000 63,000
= 227,700
Al 25,300
1 AMISXAIEEXE 253,000 190,000 63,000
OUAHZH(ZNUESAIE)
253,000,000 253,000
= 227,700
Al 25,300
SXU=XAIE 28| 417,150 416,002 1,148
Al 417,150
307 @I2t01 & 417,150 416,002 1,148
Al 417,150
10 Al SXAAEEHE 22X 417,150 416,002 1,148
OZ2X=XAIE 23| 416,650,000 416,650
Al 416,650
OZXN=XAIE SAHL X+
500,000 500




2A: SXEA
Bo: (125 L ISEKIE
&t R =X (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 500
SR=XAE AR SRREA els3AY| 28,435 23,660 4,775
| 28,435
301 LPBNEZ 28,435 23,660 4,775
J| 28,435
10 AISI=SRQIABAS 28,435 23,660 4,775
OZXEXAIL AIBE223 olsdH|
28,435,000 28,435
| 28,435
SA=EXAE EAL KA 30,000 35,000 5,000
Al 30,000
301 LPENF 30,000 35,000 A5,000
Al 30,000
02 MBI EEAGS(HUAS, XLTHEA) 30,000 35,000 A5,000
O2XN=XAIE EIAX AEEEZ2
30,000,000& 30,000
Al 30,000
SIRRIETE 2=H S X2 2,259,450 2,378,625 A119,175
| 1,807,560
Al 451,890
301 YPENZ 2,259,450 2,378,625 A119,175
J| 1,807,560
Al 451,890
01 AISIBE X 2GS (2 UETME) 2,259,450 2,378,625 A119,175
OstREIHE THA =]
2,259,450,000& 2,259,450
| 1,807,560
Al 451,890
SIREEIENE WSHl - &3E4 K& 98,700 109, 131 A10,431
Al 98,700
301 LB F 98,700 109, 131 A10,431
Al 98,700
02 NS EZASHS(HAUAS, XLTHA) 98,700 109, 131 A10,431
OStRE2IIETHE nEH| - =St &23
af 98,700,000& 98,700
Al 98,700
SRS AEF=HXA 1,500 3,600 22,100
Al 1,500
301 LetEHZ 1,500 3,600 22,100
Al 1,500
02 NBIEZESGS(HAAS, RLTHA) 1,500 3,600 A2,100
O XtE NEF=AXJAAS 1,500
2352 ¥ A=z 1,500,000& 1,500
Al 1,500




SH: =NEMY
3 U2 & EAE
el BRR2 =X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HAESREIIEIE NHEAFA 14,530 15,400 AB70
Jl 11,624
Al 2,906
301 EtE N = 14,530 15,400 AB70
) 11,624
Al 2,906
01 Al EE A S (2 RNEXMA) 14,530 15,400 AB70
OFAEBIRITH OIS =Hl S
14,530,000& 14,530
Jl 11,624
Al 2,906
SHRRIIE=SAAENE 22,686 27,000 N4,314
Il 11,343
Al 11,343
307 elztol & 22,686 27,000 N4,314
Il 11,343
Al 11,343
1 AMISXAIEEXS 22,686 27,000 N4,314
OB DINE=TALAAT ALXI 2RI
22,686,000 22,686
Il 11,343
Al 11,343
SIREIIIE=SIAIE ANEE208 X 3,400 3,400 0
Al 3,400
307 @I2t0| & 3,400 3,400 0
Al 3,400
11 MEISXAEEXS 3,400 3,400 0
OstFRIIE=SAANE HEEZ2 I8N
3,400,000 3,400
Al 3,400
SFFRIIE=XAE O0ISSAHIA 5,677 7,660 A1,983
Jl 3,974
Al 1,703
307 el2to| & 5,677 7,660 1,983
) 3,974
Al 1,703
11 AMISXAIEEX 5,677 7,660 21,983
OetRZIIE=XAIE O0I=SAHIA X3
5,677,000& 5,677
Jl 3,974
Al 1,703
AZHE X 4,748,600 2,384,084 2,364,516
= 1,449,532
[ 750,000




2A:
X XH -
o e

=aak

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 330,137
Al 1,859,437
- 359,494
OlOI=E20IXKI&ALSH 2,065,044 1,876,091 188,953
= 1,445,532
Al 413,008
- 206,504
307 212+01™ 2,065,044 1,876,091 188,953
= 1,445,532
Al 413,008
- 206,504
11 AR SXAMEES 2,065,044 1,876,091 188,953
OOI0I= 20| X & At 2,065,044,000& 2,065,044
= 1,445,532
Al 413,008
- 206,504
A2 - GEeOIEXJME SEMEIA 611,960 446,680 165,280
J| 305,980
Al 152,990
- 152,990
307 212+01 A 611,960 446,680 165,280
| 305,980
Al 152,990
- 152,990
10 AIEISXAEHE2ZHIEX 611,960 446,680 165,280
OJ=sdH 29 611,960,000& 611,960
| 305,980
Al 152,990
- 152,990
Ct23ts I 48,313 48,313 0
| 24,157
Al 24,156
307 2I2+01A 48,313 48,313 0
| 24,157
Al 24,156
02 QIZHBAAIEE R 48,313 48,313 0
Og=0ns 249 K& 15,500,000& 15,500
| 7,750
Al 7,750
OZ=0I2A SHIAMHIA
32,813,000 32,813
| 16,407
Al 16,406




2A:

X XH -
o=

chl: 2l (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
220HE GU2PISAJME SAR SX=E 1,300 1,000 300
Al 1,300
307 21201 & 1,300 1,000 300
Al 1,300
10 Al SXAAEEHE 22X 1,300 1,000 300
OJIEHIE SAL =X+
1,300,000& 1,300
Al 1,300
ESgds A3 8,000 12,000 24,000
= 4,000
Al 4,000
301 EetE2 N = 8,000 12,000 24,000
= 4,000
Al 4,000
01 Al EE AL S(FRDEXHA) 8,000 12,000 24,000
OFA2ERL Ots2=H| KA
8,000,000 8,000
= 4,000
Al 4,000
IIESUEXFAE ZEAS 1,500,000 0 1,500,000
= 750,000
Al 750,000
401 AIZHIX S0HH 1,500,000 0 1,500,000
[ 750,000
Al 750,000
01 AlZ8| 1,500,000 0 1,500,000
OIS HEXNFAE ZEAY
1,500,000,000& 1,500,000
= 750,000
Al 750,000
SOISEXNHE ZEAS 500,000 0 500,000
Al 500,000
401 A2 HIRL R 0HbI 500,000 0 500,000
Al 500,000
01 A28l 500,000 0 500,000
OF0ISe XM TEAH
500,000,000 500,000
Al 500,000
ISR SAHL MW S 5,022 0 5,022
Al 5,022
307 elztol & 5,022 0 5,022
Al 5,022
10 AlISXAZEE 22X 5,022 0 5,022




2A:

=L TP IES (E
el A0S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIE4E SAA M<IHAHI
5,022,000& 5,022
Al 5,022
22ANE LSS RANE SARG AM2AL2R+Y 5,961 0 5,961
Al 5,961
307 @12t0| & 5,961 0 5,961
Al 5,961
10 Al SXAAEEHE 22X 5,961 0 5,961
OJIBHEH SAAL Al
5,961,000& 5,961
Al 5,961
OlOIZ 20| HZZ &l K& 3,000 0 3,000
Al 3,000
307 212+01& 3,000 0 3,000
Al 3,000
1 AMISXAEEXS 3,000 0 3,000
OO00I==201 A2H&H| A&
3,000,000& 3,000
Al 3,000
e =X s 25,190 26,077 N8B
Hgoly od S 0ld Ay sd 25,190 26,077 A\887
g=8YN € dd8s2AA ML 6,500 6,500 0
201 =3 6,500 6,500 0
01 At22t2ltl 6,500 6,500 0
O4U=s Ol = 1,000,000 1,000
OdEgggitus 500,000 500
Od3lE - 4= S ULlA Xz, &EHIX
! 5,000,000 5,000
Hdgdss & dasd 13,693 14,025 A332
201 2= 12,667 12,885 A218
01 At22t2lH] 1,967 2,185 N218
Ooidalst & Al At =X
2,185,000 *90% 1,967
02 s5=34l 6,000 6,000 0
ONde8dH dES82d s
6,000,000& 6,000
03 A= &I 4,700 4,700 0
OddESF2HeA 3,000,000& 3,000
Ondiist 2 1,700,000& 1,700
203 HR=H] 1,026 1,140 A114
03 A=A =AY 1,026 1,140 A4
O g2l ZISAIH =4
1,140,000 *90% 1,026
OeEd X 1,847 2,052 A205




S SXEBD
Hu: o8 =X 53

Chel: OlAdolz! 2M S 04 RO EX (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 1,847 2,052 A205
03 A=A 2= 1,847 2,052 A205
OCYEH & NASAH 243t AR
2,052,000 *90% 1,847
HE=502 g5 2= 29 3,150 3,500 2350
201 ger=3| 3,150 3,500 A350
01 Al 22| 3,150 3,500 350
OOlZH0lY ESHH 75 2
3,500,000 *90% 3,180
SNt & 2SI 21,483,255 19,702,380 1,780,875
= 11,262,259
Al 7,709,901
T 2,511,095
Oelold 28 & 2|2 N 21,483,255 19,702,380 1,780,875
= 11,262,259
Al 7,709,901
- 2,511,095
gdR0tE=E K& 3,859,522 4,361,521 A501,999
= 2,894,642
Al 675,416
- 289,464
301 EtE NS 3,859,522 4,361,521 501,99
= 2,894,642
Al 675,416
- 289,464
01 Al EE AT S (2 RDEXA) 3,859,522 4,361,521 A501,99
Ogrit2sz= XI& 3,859,522,000& 3,859,522
= 2,894,642
Al 675,416
- 289,464
el 252 X 3,174,252 3,174,252 0
Al 3,174,252
307 glztol & 3,174,252 3,174,252 0
Al 3,174,252
10 Al SXAEEE 22X 3,174,252 3,174,252 0
OscltzE=sE XN 3, 174,252,000 3,174,252
Al 3,174,252
JZE2EE NE Oel0ld 23-5M RE2REEs= X 185,987 185,987 0
Al 185,987
308 AXIHMSOIA 185,987 185,987 0
Al 185,987
13 S [2S0tHet 4 A AS A 185,987 185,987 0




2A:

SINESES N}

I BMFY L ESX
ool 0fRI01F 28 ¥ SRR
SN - B - SRAEH) - MRA A HIDE2
OJ|22=ss K& 0el0ld 23-5M XK=
=2 & 185,987,000& 185,987
Al 185,987
O12lol& olol=0t 176,993 283,54 106,601
= 132,745
Al 30,974
- 13,274
301 22N 176,993 283,54 106,601
= 132,745
Al 30,974
- 13,274
01 Al EE A S(FRDEEMA) 176,993 283,594 106,601
OO0iglold DloIgots
176,993,000 176,993
= 132,745
Al 30,974
- 13,274
EMOt 0l &K 168,000 168,000 0
Al 168,000
301 LEtE N = 168,000 168,000 0
Al 168,000
02 Al2| 2 H 0 . KIZTH) 168,000 168,000 0
OSmMol= = 168,000,000 168,000
Al 168,000
S8 2 253 678,325 364,950 313,375
201 2= 17,170 17,500 A330
01 AtR2t2lt] 6.670 7,000 A330
OgR0t 2R2U= 1,180
ZAt=g 1,000,000 %1 1,000
=R | 100, 0002 *17H*90% D
- B AIE 50,0003 *2H*90% 0
O=EFuAE 1,000
ZA==E 500,000 x2H 1,000
Oge001g
100,000 3% 300
OsaEd® 3,290
EMEHEY ZE2ES A
1,500,000 *90% 1,350
EMEd S & S M=
600, 0002 *90% 540
CEMEY WE S 1,400,000& 1,400
Oy 2= S
1,000,000 *90% 900
03 A2 I 10,500 10,500 0




2A:

SINESES N}

M S4EY 2 B
el ORI 28 2 282 N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&¢tEd =2==AH 2,500,000& 2,500
OEFuAl €8 X2 8,000,000& 8,000
203 =2l 855 950 AN® S
03 A=A PR FZ| 855 950 VaN® 'S
OBMEY L SR B 2E AUEX
950, 000 *90% 855
301 LELE NS 658,800 345,000 313,800
02 MBI 2EHSFHS(HAANS, KLHE) 658,800 345,000 313,800
O+ IHHl S K= 612,000
2023 E40H(23Ixt)
1,000,000 *300H 300,000
20244 S0t 1,000,000&+312& 312,000
OFFa—telt=1-PNI=! 150,000 x312H 46,800
307 elztol & 1,500 1,500
02 LB HAHE L 1,500 1,500
OhERHH=II2s SEXs X
1,500,000 1,500
SL2ZLIHEH 29 2,476 2,476 0
= 1,250
Al 858
- 368
201 er23| 2,476 2,476 0
= 1,250
Al 858
- 368
01 At22t2lt] 2,476 2,476 0
ORZ ZLHEH 2 2,476,000& 2,476
= 1,250
Al 858
- 368
O12I01E S AL 2124H] XI& 4,871,199 4,871,199 0
= 2,922,719
Al 1,363,936
- 584,544
307 212+01& 4,871,199 4,871,199 0
= 2,922,719
Al 1,363,936
- 584,544
10 AlRISXAZEE 22X 4,871,199 4,871,199 0
OEFuAA o128 XI&
4,871,199,000& 4,871,199
= 2,922,719
Al 1,363,936
- 584,544




2A:

i FNCEV
Cl 0lRI0IE 28 2 =2 K¢ (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
HEl0l1& ExAF elHE] K& 1,353,144 1,353,144 0
= 811,886
Al 378,880
- 162,378
307 QIZ2t01 A 1,353,144 1,353,144 0
= 811,886
Al 378,880
- 162,378
10 Al = XA EHE2FHIE X 1,353,144 1,353,144 0
O0elold BX AL oIAH| K&
1,353, 144,000& 1,353,144
= 811,886
Al 378,880
- 162,378
H20|X& HEl0ld EFuA SX+=Y 237,000 237,000 0
Al 237,000
307 212+01™ 237,000 237,000 0
Al 237,000
11 AR SXAMEER 237,000 237,000 0
OF=R0IXNE Kol EsUAM =SXE
237,000,000& 237,000
Al 237,000
SFL0IXA Helold ZelaelAy] K& 12,000 12,000 0
Al 12,000
307 212+01™ 12,000 12,000 0
Al 12,000
10 Al =S XA EBEER2IHIEX 12,000 12,000 0
OF=R0IXNAE 2oy Zelaelddl K&
12,000,000& 12,000
Al 12,000
HOHEROIHEIOIE EFEAL S22 10,800 10,800 0
Al 10,800
307 QIZt01 A 10,800 10,800 0
Al 10,800
11 AL =SXAMEES 10,800 10,800 0
OXMHEFOIHE0IE EFSUAI E22
=4 10,800,000& 10,800
Al 10,800
H20IX& HEl0ld BEEnA #l25+E 19,680 19,680 0
Al 19,680
307 212+01 A 19,680 19,680 0
Al 19,680
11 Al =SXAMEES 19,680 19,680 0




2A:

SINESES N}

M S4EY 2 B
el ORI 28 2 282 N (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFS0XE ORI01F BRuA B)l254
g 19,680,000& 19,680
Al 19,680
Oelold Sdsts & =3t At 25,150 25,150 0
Al 25,150
307 @12t0| & 25,150 25,150 0
Al 25,150
10 Al SXAAEEHE 22X 25,150 25,150 0
O0el0ld sdsis & St A
25,150,000 25,150
Al 25,150
ZRXN20e01E &2l N2 13,200 13,200 0
Al 13,200
307 212+01& 13,200 13,200 0
Al 13,200
10 Al SXAAEEHE 22X 13,200 13,200 0
OF=X&E Helold Xte=dgyl A
13,200,000& 13,200
Al 13,200
e W ALK& 666,573 666,573 0
= 399,944
Al 186,640
- 79,989
307 elztol & 666,573 666,573 0
= 399,944
Al 186,640
- 79,989
11 AMEISXAEEES 666,573 666,573 0
e AKX 666,573,000 666,573
= 399,944
Al 186,640
- 79,989
ORIOIBI0IE SelAZ 2SAY 524 524 0
Al 524
307 @12t01 & 524 524 0
Al 524
10 Al SXAAEEHE 22X 524 524 0
OO0RI0IEl0lE ZcIAZE 2SAY
524,000 524
Al 524
W w-H X2 28,792 31,807 23,015
= 17,275
Al 8,062
- 3,455




2A:

SINESES N}

M S4EY 2 B
el ORI 28 2 282 N (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
307 212t01™ 28,792 31,807 23,015
= 17,275
Al 8,062
- 3,455
10 Al SXAIEEHE2EHI2x 28,792 31,807 23,015
OO0l WHwHl XI&
28,792,000 28,792
= 17,275
Al 8,062
- 3,455
olold X 330,824 264,080 66,744
Al 98,437
- 232,387
307 212t01™ 330,824 264,080 66,744
Al 98,437
- 232,387
06 2= 25,000 0 25,000
O0elold s He sME K&
25,000,000& 25,000
10 Al SXAIEEHE2EHI2X 213,824 172,080 41,744
OO0iglol& LHedl X2 20,400,000& 20,400
OO0lglold ¢t X2 10,200,000& 10,200
OZR0IXNE0el0ly A&E=d8 X
6,600,000& 6,600
O0lelold S24Hl K&
140,624,000 140,624
Al 98,437
- 42,187
O0eloly zatd S M=t N
36,000,000& 36,000
11 ARRIS XA E X 92,000 92,000 0
ONE0IE EFWAL MLl X
90,000,000 90,000
O HUAY T2 2
2,000,000& 2,000
SSEOE0IE XA (HEAL) 97,560 97,560 0
Al 85,853
- 1,707
307 212+01™ 97,560 97,560 0
Al 85,853
- 1,707
10 MEISXAEHE2EHIEX 97,560 97,560 0
O&38 oelols X& 97,560,000 97,560
Al 85,853




2A:

SINESES N}

. SMEH L BSXJ
c9l: 021018 28 ¥ Y52 1Y (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| 7 11,707
SSENHE0IE =& olAdl X 7,200 7,200 0
Al 7,200
307 212+01™ 7,200 7,200 0
Al 7,200
10 AlSISXAIEHE2ZHIEX 7,200 7,200 0
O32808l0ld =& ol2dd| X
7,200,000& 7,200
Al 7,200
ARHH ESXI& 85,240 85,240 0
= 42,620
Al 29,834
- 12,786
307 2I2+0l™ 85,240 85,240 0
= 42,620
Al 29,834
- 12,786
10 Al S XA EEHE2IHIE X 85,240 85,240 0
OAIZHH EsXI3 85,240,000& 85,240
= 42,620
Al 29,834
- 12,786
H2XE Helold EFuA =X+ 23,760 23,760 0
Al 23,760
307 212+01 A 23,760 23,760 0
Al 23,760
11 AMSIESXAEEX 23,760 23,760 0
OF2XE Helold ESuAI =X
23,760,000 23,760
Al 23,760
Aotg 01=2d K& 719,000 494,000 225,000
= 539,000
Al 90,000
- 90,000
301 LPENF 719,000 494,000 225,000
= 539,000
Al 90,000
- 90,000
01 AISIBE XS (2 RETE) 719,000 494,000 225,000
Oxotd ol22 X 719,000,000 719,000
= 539,000
Al 90,000
- 90,000




S SXEBD

. BNEY U ERNE
ol OElol 28 % 258 NE (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
2230 (got=g) X 4,666,904 2,709,533 1,967,371
= 3,500,178
Al 816,708
- 360,018
301 2eEN= 4,666,904 2,709,533 1,957,371
= 3,500,178
Al 816,708
- 350,018
01 Al EEHGIS (2 DEXTHE) 4,606,904 2,709,533 1,957,371
O=230{(Zot+Z) X2
4,666,904,000& 4,606,904
= 3,500,178
Al 816,708
- 350,018
SOOI ZI0IE AHEDIAL e1218] X2 4,800 4,800 0
Al 2,400
- 2,400
307 212t01™ 4,800 4,800 0
Al 2,400
- 2,400
10 MEISXAIEHE2EHIEX 4,800 4,800 0
OZOHOLOIRI0IE RHEIIAF 2124H] XI&H
4,800,000& 4,800
Al 2,400
- 2,400
SAE ot 2 64,350 64,350 0
Al 64,350
307 elzto| & 64,350 64,350 0
Al 64,350
10 Al2ISTIAIEEE 22X 64,350 64,350 0
OR4re ggotet 2¢ 64,350,000& 64,350
Al 64,350
HY2AHHI(SXH2D) 180,283 189,795 A9,512
= 49,932
Al 24,966
- 105,385
IH2IHI(SXNE L) 142,443 136,329 6,114
s 49,932
Al 24,966
T 67,545
SSAtAIZt2IAF 2124H] XI& 142,443 136,329 6,114
= 49,932
Al 24,966




A =SXEA
M HYRAZH(SXFHL)
S ol | (=A™ (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 67,545
101 @1A4H| 121,697 115,085 6,612
[ 39,312
Al 19,65
- 62,729
03 SR (RIH )22 U2+ 121,697 115,085 6,612
oJlza
(2,169, 130& 42,238, 72024+2,349,870& ) 12&
81,093
= 35,682
Al 17,841
T 27,570
SNEIEEEES
(12, 17824412, 5472+13, 1372 ) *150%+ 10AI 2% 12
= 6,816
[ 3,630
Al 1,815
- 1,371
OdHIAMHI 140,0002 <3+ 122 5,040
OYEFIH|
(2,169, 1302 42,238, 72021+2,349, 870 ) x40%*23
5,407
OIEsg 40,0003 32~ 123 1,440
Ouxtraxt=¢
(1,071,664 +1,505,6202 41,681,510 ) 4,259
O&X= =0tz 14,042,600 14,043
O8lta0=
(2,833,0502 42,978, 7802143, 128,650 ) *40% 3,59
04 HSRESS 20,746 21,244 A498
s 10,620
Al 5,310
- 4,816
M BRA(RIHS) 22N BEE2RE=s S 20,746 21,244 A498
OnszERRL3
(34,654,350+35,386, 10024+36,697,210& )*1.75%
1,868
= 916
Al 458
- 494
Ot 22 RE2
(34,654,350+35,386, 10024+36,697,210& )*0.85%
908
= 472
Al 236
- 200




SN ST
M HYRAZH(SXFHL)
Cel: A HH|(SXF2DL) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SECCEEEE
(34,654,3502+35,386, 10021+36,697,210& ) 4. 5%
4,804
= 2,500
Al 1,250
- 1,004
O=2UABESES
(34,654,35021435,386, 10024+36,697,210& ) *3.55%
3,790
= 1,944
Al 972
o 874
OLQEIIQRUFHRLLD
(34,654,35021435, 386, 10024+36,697,210& ) *0.45%
481
= 120
Al 60
- 301
OEAXNE=3
(2,837,890& 42,948,840 13,058, 100) 8,895
= 4,668
Al 2,334
T 1,893
|22 (SXE 1) 37,840 53,466 A 15,626
SAI123H 37,840 53,466 ~ 15,626
201 er2 3| 1,790 12,366 N576
01 AtR2t2|HI 11,328 11,904 A576
ORM2EII12+EH]
24,0002 *20H 122 *90f% 5,184
OJl=gdRdgeEt]
8,000& *44!x20H « 122 »80% 6,144
02 S5=2g4l 462 462 0
Otl&&olE sat|
38,5003 1 A+ 123 462
202 048l 19,300 33,600 14,300
01 2L AL 19,300 33,600 214,300
OfMUHEEHHI 19,300,000 19,300
203 =] 6,750 7,500 AT50
01 D122 HARFA| 2,970 3,300 A330
Ol 22IdFat|(FesX=E)
3,300,000 *90% 2,970
04 A2 LRFAI 3,780 4,200 A420
ORNEgE =AY
350,000 122 *90f% 3,780




